| Efficiency vs Dxy |
.02
X

= TN S A R T R T S S
LR e S
< R T T T

e

Q) - H H H H 1 N N N N
N S AR A S S S
7 T

eff

T ——-——_—
0008

0008
e e o o
T s e e

o0

T 12
81

0
1:—. el S | S S
0 E=50-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baseline
| Efficiency vs Dz | —e— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000

005 —— DQM_V0001_R000000001__Global__mkFit_jcorelOmaxCand-24DUPremoval-1000
. ; : : T

AT SN U S 1 S -
o ; : : ; :
e s S I /16 S S
O N N N N N
G035~ P P I O 1 A A
o : : : : :
i R R S I\ N NS A

0028w

0,025 il
0,018+ttt

0,00 bt

0008l

o+
=

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


